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Chapter: Do Ourselves

Solution sheet - 1
Answer to the question number -1

1) 39

2) 85

3) 97

4) 0

5) 65

6) 80

7) 96

8) 74

9) 92

10) 86

11) 70

12) 90

Answer to the question number -2
1) 34
2) 42
3) 20
4) 8
5) 28
6) 0
7) 46
8) 19
9) 16
10) 7
11) 26
12) 7

1|Page



Class: 2

Subject: Mathematics
Prepared by Shameema Akhtar
Date: 20/ 10/ 2020

Answer to the question number -3
1) 8
2) 9
3) 20
4) 24
5) 35
6) 72
7) 27
8) 8
9) 60
10) 42
11)0
12) 63

Answer to the question number -4
1) 3
2) 2
3) 4
4) 3
5) 9
6) 5
7 4
8) 4
9) 7
10) 6
11)8
12)8
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_Answer to the question number -5

34<54
Therefore, the girl- students is more than others.
There are 54 girl- students in the class.
and (-) 36 boy- students in the same class.
So, 17 girl- students is more than others.

Ans: i) The girl- students is more than others.

And ii)there 17 girl- students is more than others in that class.

Answer to the question number -6
Rahim eats 8 chocolates in 1 day
Therefore, Rahim will eat 56 chocolates in (56+8) =7 Days
Ans: He will finished in 7 Days

Answer to the question number -7
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